ST UDY L ENTIRE

SIMPLIFICATION - ASSIGNMENT

(893 +786)2 — (893 — 786)°

1. Simplify: (893:786)

g, (893+786)° —(893-786)’

BEOS: (893x786)

a. 4 b.5 c.6 d.3

) (a=b)*+(b—c)’+(c-a)’ _,
' 9(a—b) (b—c) (c—a)
a. 1l b, L o ! d.0
3 9

3. x=2414 then the value of (x— %)2

x=2414 aafled (x-¥) & wH

a.?2 b. 2 c.4 d.8
4. 2x+ 3y =14; xy = 3 then the value of 4x2 + 9y? is

2x + 3y =14; xy =3 aefled 4x% +9y? a1 i

a. 120 b. 140 c. 160 d. 180
5. A3+ (@) _ 20; then the value of

169+49—-x

M=2O; oTell6L X63T DI

169+49—-x

a.6 b. 20 c. 91 d. 42
6. 3 =1732and v2 =1.414 then the value of ——— —

J3+42
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10.

11.

12.

13.

B =1.732 wpmidb V2 = 1.414 sefled ﬁ &1 IDEILy

a. 0.064 b. 0.308 c. 0.318 d. 2.146
If a2+ b2 =117 and ab = 54; find the value of Z—JFE
a2+ b2=117 wpmb ab = 54 eefev ZLE &1 AL
a. 6 b. 4 c.5 d.2
(35x35)+(15x15) _ >
25% +10° ‘
a. 1700 b. 725 c. 80 d.2
/1+§:1+ithen xX=7?
144 12
/l+§:l+iﬂ®‘ﬂ@ X =7
144 12
a.x=0 b.x=1 c.x=2 d.x=3
x +y = 2a then the value of . # 4
Xx—a y-a

X a
X +vy=2a aafled ——+—— &1 FH
y X—-a y-a 28

a.2 b.0 c. -1 d. 1

2p+3q=18;2p-q=2then2p+q="7?
2p +3q =18 wBmid 2p-q =2 eeied 2p +q="7? e WFHIL

a.6 b.7 c. 10 d. 20
«/2_“ = 64 then find the value of n
J2" = 64 aiafled it DA IGHL SHTEHT.
a.2 b. 4 c.6 d.12
x =3 + 2.2 then find the value of (x/_ —%)
X

x =3 + 22, stafled [\/;—ij T DI

Jx
a. 1 b.2 c. 232 d. 33
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14.

15.

16.

17.

18.

19.

20.

21.

22.

35+(0.70t7)+05%x03-01=
109 107 110 106
a. — b. — c. — d. —
130 140 137 141

the cube root of 0.027 is

0.027 e e cLp60ID
a.03 b. 0.03

The value of {1+i} {1+ L } {1+ 1 }{Hi} is
X+2 X+3 X+4

2 ot bl
1
_5

X+5 d X+1

c. 09 d. 0.09

a. 1+L

X+5 " 4 " x+5

If (2p+£j = 4; the value of (p +$j is

p
(2p+lj = 4; s160160 (p +LJ 6T DI
p) 8p’
a. 4 b.5 c.9 d. 15
simplify : 543+ 18 3 -2 3
F(TH(G)b: 53+18 3 -2 3
a.15 3 b. 213 c.25 3 d.11 3
16 expressed as a fraction is
a. 10 b ¥ .2 d 2
10 9 3 8
S SR S S S
BB BT 6 o BE
a.0 b.5 C. % d.1

simplify : (—9%) + (14%)
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a. 9i b. 3i C. —3i d. —9i
43 43 43 43
23, 8l =7
a. 43046721 b. 332 c. 243 d. 415

24. x+%( =3, then x5+}<(5 is equal to.

X + x+%(:3 61607160 x5+%5 5@ FLOLDTGIG.
a. 123 b. 83 c. 92 d. 112

25. If %:% and 8a + 5b = 22, then the value of a is
8/ =3/ wppib 8a+5b=22eafed a & Wi

a.% b.% C.% d.%

SIMPLIFICATION ASSIGNMENT ANSWER KEY

1123 /4|5 67 89|10
A B C C C C C D B B
11 112 /13|14 (15|16 |17 |18 |19 | 20
C DB D B A C B |B C
21 122 /2324 25|26 27 28|29 30
B D C A A
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